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51 A 8 4EFE 4 A%y (HOHE — fR A A 24 4+ 24 1)
5 2 [ ” 5 A% (HORE — fR A A 24 4+ 24 1)
5 3 [ ” 6 A4y (HOHE — fR A A 24 4+ 24 1)
55 4[] ” 7 A%y (HORE — fR A A 24 4+ 24 1)
%5 5 [A] 7 8 Har (KoAH — fR AR B 4 % + 24 )
£ 6 [n] ” 9 Hoa (HoFE — AR B Y BH < 24 (1))
557 [ ” 10 A4y (HOHE — fR A A 24 4+ 24 1)
£ 8 [n] ” 11 A%y (HoFE — AR B Y BH < 24 (1))
59 [a] ” 12 A%y (FEEH — AR B AH 2 B + 24 [1])
510 [A] ” 1 A% (HOHE — fR A A 24 4+ 24 1)
%11 [1] ” 2 Ao (HoFE — AR B Y BH < 24 (1))
9512 (9] ” 3 A% (FEEH — AR B AH 2 B + 24 [1])
5513 [7] 19 R 4 Hor (HoFE — AR B Y BH < 24 (1))
% 14 ] ” 5H% (HBH — AR B AH 24 % - 24 1))
£ 15 [A] ” 6 H4r (RREE — AR B A 24 3+ 24 [])
%5 16 [A] ” 7T Ho (HoFE — AR B Y BH < 24 (1))
5517 9] ” 8 Hor (FFE — AR B Y HH < 24 (1))
% 18 1] ” 9 Ho% (HBH — AR B AH 24 %H - 24 1))
5519 [A] ” 10 4> (FFE — AR B Y HH < 24 (1))
%5 20 [x] ” 11 A5 (WBH — AR B AH 24 B - 24 1))
% 21 [1] ” 12 A%y (FBE — AR B AH 2 4H - 24 (1))
55 22 [0 ” IWERs) (FRFH — AR B A 4 4 < 24 1))
55 23 [1] ” 2 Hom (WBH — AR B AH 24 B - 24 1))
55 24 [A] ” 3H» (FFE — AR B Y HH < 24 (1))
AR ” 55 24 [a]iH SRR A 24 A
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